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(@) @Ay N g1 mySwap e
[Pascal K 7S ]
procedure mySwap( X, y :
var
temp :
begin

integer);

integer;

A[x]:= temp
end;

[C KR A]
void mySwap(int X,
int temp;

int y) {

A[X] = temp;
}

[Visual Basic K 7~ ]
Sub mySwap(ByVal x, ByVal y as Integer)
Dim temp as Integer

A(X) = temp
End Sub

[Java KR 7~ ]
static void mySwap(int x,
int temp;

int y) {

A[X] = temp;
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(b) Sl X <=y o FERS NS myRev e

[Pascal ki 7K ]
procedure myRev (X, y : integer);
begin
while ( ) do
begin

mySwap( X, Y);

end
end;

[C BRZ]
void myRev(int x, int y) {

whille ( ) {

mySwap(X, Y);

}
}

[Visual Basic kg 7~ ]
Sub myRev(ByVal x, ByVal y As Integer)

Do While ( )]

Call mySwap(x, Yy)

Loop
End Sub

[Dava KR Z ]
static void myRev(int x, int y) {

whille ( ) {

mySwap(x, Yy);
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() A x <=y <=z > B AyTF| SegSwap o

[Pascal ki 7K ]
procedure SegSwap(x, y, z : integer);
begin
myRev(X, VY);

end;

[C B 7]
void SegSwap(int x, int y, int z) {
myRev(X, Vy);

}

[Visual Basic Ky 7~ ]
Sub SegSwap(ByvVal x, Byval y, ByVal z As Integer)
Call myRev(X, Y)

End Sub

[Java ki 7% ]
static void SegSwap(int x, int vy, int z) {
myRev(x, y);

(2 53)

RO 38 RS R  E

EY

HKDSE-ICT 2D-9 (# 4 % %) 9

N

AIG - BT B R TTEE T

- B



SEL
po-4

2
It

5]

o B UK - Yoy

(dy & ﬁfﬁlli*‘*,ﬁijﬁ;ﬁi[;ﬂj [J (=) HH “‘ﬁ"ﬁ?[ﬂﬁ ¢ (print) UWE]T?#F\ET?\\O
[ T Tt AT
*E i (integer) @&l m

T_E{Lj\ 7*“4

\Y .

= (subprogram) foo #! main » I ¥

m, n : integer;

subprogram foo(x : integer, y : integer)
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}
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